WILLIBALD

RECYCLINGTECHNIK

Hard metal (HM)

Hard welded (HA)

Granulate

Subject to changes of technical data.

wear parts UZ 80

Willibald N°

660-40-093
660-40-094

660-41-176
660-41-177

660-40-107
660-40-108

There can be dimensions and designations that do nt meet to the standard series.

Coping and reprinting only with our permission!

Designation

flail left HM
flail right HM

flail left HA
flail right HA

flail left Granulated
flail right Granulated

Utilization

green waste, bark, biogas
substrates; without
extranehous material

matured timber

green waste, bark; bio gas
substrates, with
extranehous material

02/23



WILLIBALD wear parts UZ 80

RECYCLINGTECHNIK

push-in bolt Quant. Willibald N° Designation
3 750-40-012 push-in bolt @35
3 022-04-021 hexagon head screw M12x80 10.9 vz
3 029-03-008 locking nut M12 10 vz
Drive Quant. Willibald N° Designation

4 047-05-004 drive belt

'S UNERR

Quant. Willibald N° Designation
Screws for rake Quant. Willibald N° Designation
36 023-04-048 hexagon head screw M16x55 10.9 vz
36 103-01-005 washer 17 vz
36 029-03-010 locking nut M16 10 vz

Subject to changes of technical data.
There can be dimensions and designations that do nt meet to the standard series.
Coping and reprinting only with our permission! 02/23



